H1& Mg - NE28 &2 €8

1. 20169 Lets| 2 A5 ELIA(SINYEE)S ZM4FEH2
O Ol &3 A 541,149,850,4303 (MU= OlE = 86,980,589,430& X & )0l CHSHA
A2 543,053,272,609& 0] 1J
AEH=2 390,930,938,929& 0| 4
0 1 Xel&tk= 152,122,333,680& 22 Al
K2l HE H19=0l Wet JIEHP 20 AtE &t 0&
(= 0&, OIXt 0R)S Mg 152,122,333,680& 2
SHEE UsHEZ 212 0l = 8tLt.
0 S8 Ol2Y S0l=
HAIOI2 30,479,645,8008 (Xt= 8l= BAIOIE N 4,171,084,000&)
A0l E 10,179,986,863& (Xt= 8l AtLO0IE N O&)
H=H|0l = 59,430,632,000& (X2 &l= HSHIOIE N 1,439,443,000&)
(- EH)EX3 ZHEH 3,050,223,248& 0] EZS L0 JU2MH 0= SKHlet
=MALH=2 48,981,845,769& O| Ct.
2. 20168 = et A=
0 Off &h& A 453,382,396,760& (MU= OlE = 79,520,863,7603 X & )0l CH St
A= 455,758,336,006& 0| I
AEH=2 314,717,846,239& Ol
0 1O Xel&tl= 141,040,489,767&3 2= A
K22l HEY H190 et Lers|H A2t JIEHPHE0 AtE 8t o
(2= O&, OIXt 0&)S SHE
2/ HE dH=SH 141,040,489,7673 2 S HEZ UUSAHT0U 22 O[3 &tLt,
0 s OlEd S0l=
HAIOI2 28,418,083,9208 (X3 8l= EAI0IE N 4,171,084,000&)
A0 E 8,765,982,133& (A= A= AtDOIE N 0&)
H=H| 0l 58,036,399,750& (N3 8l= HI=SHIOI SN 1,439,443,000& )
(F-EH)EXZ S HEH 2,867,298,398& 0] EZL O U2MH 0l SHlet
=MAHLH=2 42,952,725,566 & 0| Ct,
3. 20169 = SIIESEAHE dIxet 8 SE A0 CHet
(1) SZ24aEg:
0 Ol &h& A 87,767,453,670& (HME & 0123 7,459,725,6703 £ & )0l CHGHA
A2 87,294,936,603& 0| J
AEH=2 76,213,092,690& Ol
0 1O Xel&tk= 11,081,843,9133 2 2 A
A2l HY HMI190 et SE3H L2 JIEHPHE0 AtE 8t 0&
(2= O&, OIXt 0&)S SHIE

Ok
I

=N 11,081,843,9132 2 sl HEZ USHXO0l 2= 0|2 stLt.
o
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H AIO| & 2,061,561,880& (X2 gl A0l 0)
AtD Ol 1,414,004,730% (X2 gl AtDOI & 0)
H=Hlol 1,394,232,2509 (X2 ¢l H&H OIS 0)
2X= & e RoH 182,924,850 0] E&Z A2 012 2 H E
=MAHLH22 6.029,120,203& 0| C}.
(2) BIILSESIHE MAS JIEISEIH 22
0 Ofl AFSl oY 35,305,418,5502 (HE < 0l&3 3,286,102,550 & I &) 0ll CH 5+ Of
M 35,298,390,681 20| 1
ANEH2S 30,418,323,120= 0l (4
0 0 Xtolxoue 4,880,067,561 22 Al
NS HY MI9Z0l Tet JEISEaHAZ IEHSA S0 A=t 0
(23 0, OlXt 0A)= M st
SHY Y= 4,880,067,56122 3 HE2 HSHT Ol 22 0| = EHLH.
0 IS Z 0Ol Sol=
3 AlO| & 659,000,0008 (X2 Sl HAIOl& 0&)
AtDOI” 459,795,5502 (X3 8le AMtDOlE 0)
H=Hlol 1,337,737,8008 (X2 ¢l= HSH Ol 0H)
(2 - ZH)BXZ2 T & & A 182,924,850 01 EEEZI A2H 0|12 2 HIE
=MAHLAHZ2 2 2,240,609,361 & 0| Ct
(3) JIEFSEFH HEe=2
O S22 0HIISSEEFAHE(2)
0 Ofl AFSl oY 893,946,000 (HME T 0|23 OR Z &0l Ofotod
SEMS 884,936,590 0| 1
NS 842,648,300 0| (4
0 0 Xt 42,288,290 22 N
X3 HE MI9OEX et JIEIHP A0 AHRE 0
(23 0, Ol Xt 0&)S S HIst
SHY A= 42,288,290 2 3 HE2 LSHT Ol 22 0| R BHL
0 LISHZ 0| S0l=
Al O] & 02 (X3 gle gAlola 0&)
At 0| & 02 (X2 gleE AtDo|g 0)
H=Hlol 02 (X2 gles HsHolgH 0&)
2EX3 &R 21,409,160 0] E&Z O YA2MH 0/ 2 HE
=NAHLdH2E2 20,879,130 0| Ct.
0 2 AFHIAX AL SEES H=(2)
0 Ofl AFS M 982,537,000 (HE = 0|23 O L E)0l CHotof
L= 979,781,288 0| 1
INERLRS 613,300,580 0l (4
0 0 Xolxoue 366,480,708 2 2 Al
XY AHEYE MI9Z0 et JIEHP A AHS S 0
(23 0=, OlXt 0&)S S8t
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[

4>

OH

1A

(@

()

()

P EREVEE-L 366,480,708 2 S HE2 IS T 0 242 O|Z &)

CHSSIE 018 S0ls
=PYIE 0% (X2 2= YAOIB 02)
A0 0% (X2 2= A OIB 0%)
I 0% (X2 gl H=Hl0lE 02)
PXEZ YT 79,032,7302101 EEE0f Y20 0|2 BH &
BTN 287,447,978 0| C}.

SRS AL SES HE(2)

Ol &F S 24 1,900,358,800&(MEE 0l& = 1,488,417,800& L& )0l CHot ™4

FEHA2 1,718,905,550& 01 12

ANERX2 680,000& Ol

1 XM =2 1,718,225,550& 2L 2 A

a2 HIOEU et I EHD S0 ASS 0

(23 0%, OIX 08)8 BHE

P ERCEET 1,718,225550 22 S M2 CHS AT 202t 0| F ST

CHSOIT 018 Y S0
=PYE 0% (X2 gls FAIOIB 0%)
A0 0% (X2 2= AL OIB 0%)
H =40l = 1,337,737,800¥ (Xt= = HSHIOIE N 0&)
PE3 YY 00| ZEEO0 USH 01 JH &
=NAHL =2 380,487,750& Ol Ct.

HESEHE(S)

Ofl &S oK 451,293,000 (ME = OIE = O Z&)0ll CHotof

F=HH2 453,075,734& 0] 1)

ANEH=2 409,523,050& 0l 4

1 Xpel&R =2 43,552,684 2 = A

N sl e MI9EN Wet JIEHP Aol AS S 0%

(22 0%, OIX 0%)2 BH B

EPEREVEEL! 43,552,684212 522 ST Ol 242 O|FE L

CHSSE 08 S0ls
=P 0% (X2 2= A0 0%)
At 01 3 02 (X3 8le At 0l E A )
 EFIE 0% (X2 gl H=HI0IE 0%)
BE3 YYD 0ROl EEEO ASH 01 BH S
=NAHLH=2 43,552,684& Ol Ct.

2N SEEHE(2)

Off &F 3 X 30,538,969,000& (MHE = OlE = 1,692,650,000% X &) 0l CHotOd

=g A2 30,722,293,549& 0] 11

ANEH=2 28,034,424,040& Ol ™M

1 Xpel&R =2 2,687,869,509% 2= A

>
0%
ton
N

|8 MO0 et JIEMP el At st 0&
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(23 O&, OlAt 0R)S SHE
2/ HE dH=SH 2,687,869,509¥ 2 | HE=Z USAHT0l 22 0l 3 &tLt.
0 OISHZ Ol S0ll=
HAIO| = 659,000,000& (X3 Sl= QA0S N o0&
ADOIE 459,795,550& (Xt= Sl AP0l X Ok
H =40l 0 (A= Sl= HSHIOIE X 0&
SXs &N 82,482,960 0] E&tE(H JUA2H 0l SHlet
=HAHLH=2 1,486,590,999& Ol Ct.
O ZI0EBEZAHEANLEUHXNELELASEESH=(2)
0 Ol &Had oR 538,314, 7503 (M E & 0l 3 105,034,750 L& )0l CHotO
g2 539,397,970& 0] 1J
ANEXRE2 517,747,150& 0l (4
0 1 Xtel&oh= 21,650,8203 2 2 A
NESIAHY MI19Z ol et IIEMP AU AL S o0&
(23 0&, OlXt 0&)S SHE
2 HE dH=SN 21,650,820 I HEZ Uh283HT0l 22 0| & StCh.
0 S OlE S0l=
HAIO| = 0 (K= Sl= BAIOIEN o0&
At 0| & 0% (K3 8l AMMLDO0I3 o0&
H =8I0l 3 0 (X3 Sl= HSHIOIE X o0&
i §HH 0F0l ZEEN A2H 0l SHe
=MALH=2 21,650,820& 0l Ct.
(4) SIILELEIH= JLSH2F LA Mt 2 ZLS ot U220 (EH),
2 BIIHEESHS 82 =XIE HAGHEH Uz 2C.
(291:9)
. 5 Al el N & ° ‘ -
3 N g 0 &8t o 2 Lo 21 ar N o A 2 wsu | 2EE [ A
Al 52,462,035, 120 51,996,545,922 45,794,769,570 6,201,776,352 | 1,402,561,880 | 954,209,180 56,494,450 3,788,510,842
aZ A EE SN 13,779,398,000 13,748,065,742 11,234,922, 360 2,513,143,382 | 514,010,880 | 612,923,180 56,494,450 1,329,714,872
St=Z AL S E 3 A 38,682,637,120 38,248,480, 180 34,559,847,210 3,688,632,970 | 888,551,000 | 341,286,000 2,458,795,970
4. 25l & A4S SEIAH2 AIAHNE Z2oUHE s B0 20,



